017 | Mixed Decimal Equations

Name:

1]

The speed skater takes 9 seconds to skate
around the track. After she trains for a
month, the skater removes 8.6 seconds
from her previous time. How long does it
take the speed skater to circle the track
after she trains?

seconds

|£J
If Luke can lift 4.6 cement

blocks at a time and each
block weighs 5.3 pounds,

how much weight can Luke
lift?

pounds

|£J
Choose the best answer

Before Mackenzie cuts the grass in her front
yard, the grass is 13.6 inches high. If the lawn
mower cuts off 6.4 inches of grass, how high
is the grass after Mackenzie mows the lawn?

9.3 8.2

7.2 7.5
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@
Choose the best answer

If Alexa can lift 9.1 cement blocks at a
time and each block weighs 9.5 pounds,
how much weight can Alexa lift?

106.57 101.34

79.86 86.45

@

Logan is sitting in his favorite chair,
but the seat is too high for his. At first,
the seat of the chair is 11.4 feet off the

ground. After Logan lowers the chair
by 7.5 feet how high is the seat of the
chair?

feet

|ﬁJ
A sunflower grows 4.5 inches

in May and 1.7 inches in June.
How much did the sunflower
grow over May and June
combined?

inches
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|ﬂJ
Choose the best answer

The school band has learned two songs for their next
recital. The first song is 1.7 minutes long and the
second song is 1.5 minutes long. If the band plays
both songs at the recital, how long will the band play
for?

3.2 2.9

2.4 3.4

|ﬁJ
Choose the best answer

Emma wants to see the new superhero movie that
opened in theatres, but she's going to be late by 4.5
minutes. If the movie is 12.1 minutes long, how much
time will Emma see of the movie?

7.5 7.6

7.9 5.9

|ﬁJ
Choose the best answer

If Logan can lift 3 cement blocks at a
time and each block weighs 2 pounds,
how much weight can Logan lift?
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#10

Leon bought 5.4 pounds of
peanuts and 4.3 pounds of
raisins. How many pounds of
snacks did he buy in all?

pounds

#11

Choose the best answer

A book self is 1.6 inches wide. If 4
books of equal width fit on the
shelf, how wide is each book?

2.4 3.4

0.4 1.4

#12

Choose the best answer

A building is 9.7 meters tall when it is
first built. As the building gets older, its
roof droops by 4.1 meters. How tall is
the building after its roof droops?

5.6 4.8

5.5 6.2
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017 | Mixed Decimal Equations Answer Key
Question Answer
#1 0.4
#2 24.38
#3 7.2
#4 86.45
#5 3.9
#6 6.2
#7 3.2
#8 76
#9 6
#10 9.7
#11 0.4
#12 5.6
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